

































































































































































































































































PV ZHLTHC AR

6.4 MFRD FEEEENZTOH

KR V2
A& 4-18
G4
s 18/ N\ 1.5%‘
g|lg T P——|—E— E gle —j—Lf——g—————l)— _;m
, HEN , ;
t
wiE i h h
KA V2H
TAFHNIR/TH iR 1257 =04
R @ d a6 1 [n[r[s]t|cl[plo]d]m]|ms 0: | G |
RS HE
mm mm
4 80 | 795 | 8 | 4 |338| 35 | 1.2 |M10| 18 | 10 | 11 | 22 | 100 | 60 |M10*25| 2 80 | 170 | 35
5 95 | 945|105 | 5 |398| 40 | 1.6 |M10| 18 | 10 | 11 | 26 | 120 | 70 |M10*25| 2 95 | 200 | 40
6 105 [1045| 116 | 5 | 398 | 45 | 1.6 |[M10| 18 | 10 | 11 | 26 | 120 | 70 |M10*25| 2 | 105 | 200 | 40
7 115 [1145] 126 | 5 | 468 | 50 | 1.6 |[M12] 20 | 12 |135] 26 | 140 | 80 |M12*30| 2 | 115 | 235 | 40
8 125 (1245|136 | 6 | 468 | 55 | 25 |M12| 20 | 12 |135] 26 | 150 | 85 |M12*30| 2 | 125 | 235 | 40
9 135 |[1345| 147 | 6 | 537 | 60 | 25 |M12| 20 | 12 |135] 33 | 160 | 90 |M12*30| 2 | 135 | 270 | 45
10 | 150 |1495| 162 | 6 | 537 | 65 | 25 |M12| 20 | 12 |13.5| 33 | 185 | 110 |[M12*30| 2 | 150 | 270 | 45
11 165 |164.5| 177 | 7 | 637 | 70 | 25 [M16| 28 | 15 [175| 33 | 195 | 120 |[M16*40| 2 | 165 | 320 | 45
12 | 180 |1795| 192 | 7 [ 637 | 75 | 25 |M16| 28 | 15 |175| 33 | 220 | 130 |M16*40| 2 | 180 | 320 | 45
14 | 210 |209.5| 226 | 8 | 777 | 85 3 |[M16| 28 | 18 | 17.5| 33 | 250 | 160 |[M16*40| 2 | 210 | 390 | 45
16 | 240 12395258 | 8 |89 | 100 | 3 |M20| 38 | 25 | 22 | 39 | 280 | 180 |[M20*55| 4 | 240 | 450 | 60
18 | 27512745295 | 9 [1016] 120 | 4 |M20| 38 | 25 | 22 | 39 | 330 | 210 |[M20*55| 4 | 275 | 510 | 60

84



®

7 ElIi xR 1A

SLMe® GUOMAO REDUCER

3584 P2,P3,P4,V3,V4

At 4-18
g G4 G4
|
yy
|
Nz Yl >y
s f 16/ N w.a&
S -
T
. = © o . |
g|g 3 — —| ----- 4———|—§—— g‘i‘ 8| Je———F =————r- 3:{‘"
5 _
S
7 | > f
t
i - I= i g ] !
|
o
37 P2H,P3H,P4H,V3H,V4H
TEMNBRBH UitR 1257 ZSILNEH
BB T @ [ nl 1 [w[r] s [t]c][D [oo]d[m]| mw |, |0 g
g HE
mm mm
4 80 | 795 |88 4278 35 [1.2] m10 [18]10] 11 [22[100] 60 | m1025 | 2 | 80 | 140 [35
5 95 | 945 1055328 40 16| m10 [18]10| 11 |26 120 | 70 | Mm10%25 | 2 | 95 | 165 |40
6 | 105| 1045 | 116 |5|328 | 45 | 16| M10 |18[10| 11 |26 [ 120 | 70 | Mm10%25 | 2 | 105 | 165 |40
7 | 115 | 1145 [ 126 |5|388 | 50 | 16| M12 |20[12| 135 |26 | 140 | 80 | M12%30 | 2 | 115 | 195 |40
8 | 125| 1245 | 136 | 6388 | 55 | 25| M12 |20 12| 135 |26 | 150 | 85 | M12%30 | 2 | 125 | 195 |40
9 | 135| 1345 | 147 |6 | 467 | 60 | 25| M12 |20[12] 135 |33 [ 160 | 90 | M12:30 | 2 | 135 | 235 |45
10 | 150 | 1495 | 162 |6 | 467 | 65 | 25| M12 |20 (12| 135 [33 | 185 [ 110 | M12:30 | 2 | 150 | 235 |45
11 | 165 1645 | 177 |7]537 | 70 |25 M16 |28 [15] 175 [33 | 195 [ 120 | Mm16440 | 2 | 165 | 270 |45
12 | 180 | 1795 [ 192 [7[537 | 75 |25 M16 |28 |15] 175 [33 | 220 [ 130 | M16440 | 2 | 180 | 270 |45
13 | 190 | 1895 | 206 |7 |667 | 80 | 3 | M16 |28 18] 175 [33 | 230 | 140 | M16%40 | 2 | 190 | 335 |45
14 | 210 | 2095 | 226 |8 667 | 85 | 3 | M16 |28 18| 17.5 | 33 | 250 | 160 | M16%40 | 2 | 210 | 335 |45
15 | 230 | 2295 | 248 |8]756 | 100 | 3 | M20 [38]25| 22 [39| 270 | 180 | M20*55 | 4 | 230|380 |60
16 | 240 | 2395 | 258 |8 | 756 | 100 | 3 | M20 |38|25| 22 |39| 280 | 180 | M20*55 | 4 | 240 | 380 |60
17 | 250 | 2495 | 270 8] 826 | 110 | 4 | M20 [38]25| 22 [39]300 | 190 | M20*55 | 4 | 250 | 415 |60
18 | 275 | 2745 | 295 |9 | 826 | 120 | 4 | M20 |38 |25| 22 |39 |330 |210 | M20*55 | 4 | 275|415 |60

85




PV ZHLTHC AR

i
SN ETRER GB/T 1095
_ b
— +
I ! K _C!

“ N i

joo ¥

| !

|
- od
BZ e i) HEERE REEERE
XF = b h ty d+t,
mm

17 22 6 6 35 d+2.8
22 30 8 7 4 d+3.3
30 38 10 8 5 d+3.3
38 44 12 8 5 d+3.3
44 50 14 9 5.5 d+3.8
50 58 16 10 6 d+4.3
58 65 18 11 7 d+44
65 75 20 12 7.5 d+4.9
75 85 22 14 9 d+54
85 95 25 14 9 d+5.4
95 110 28 16 10 d+6.4
110 130 32 18 11 d+7.4
130 150 36 20 12 d+84
150 170 40 22 13 d+9.4
170 200 45 25 15 d+10.4
200 230 50 28 17 d+11.4
230 260 56 32 20 d+12.4
260 290 63 32 20 d+12.4
290 330 70 36 22 d+14.4
330 380 80 40 25 d+15.4
380 440 90 45 28 d+17.4

86



< EiXAR N

sete® GUOMAO REDUCER

iLinErxiRiERINARARIR .G
it/ P ETASEMNHEHET X EER 98 5
F2i%/400-112-5588

Hi%m/213164

tl.l:/ www.guomaoreducer.com

R THEERENROBIRABME, 8%, BABTEN






